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H'.I. In case of any difference in English and Assamese Version of a question, the English Version will be

A Examination Time : 930 ANM. to 11 ANM.
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There are 50 questions and cach question carmes 2 (two) marks.

There is negative marking. 1 (one) mark will be deducted for cach wrong answer.
O the Question Hooklet, there is a small box on the top lefi comer where o letter showing series of the | -
Question Booklet is written. Wirite that letier on the empty box provided on your OMR answer Sheet '
{Question Booldet Serics) and fill the cormesponding cwrele properly and carefully on the OMR Answer Sheet. |
Write your 12 digits Roll Number on the OMR sheet in the boxes and fill the corresponding circles |
properly and carefully on the OMR Answer Sheet. !
OMR ID is available in the OMR answer sheet and Question Booklet 1D is available n the Question '
Booklet. You will have to write down the OMR ID and Question Booklet ID on the attendance sheet. |
You have to use only BLACK BALL POINT PEN 1o write particulars on the OMR Answer Sheet and :
for darkening the circles of responses. Use of pencil or any other means is strictly prohibited.
You should submit Question Booklet alongwith First Copy of OMR sheet 1o the invigilator or else your |
OMR answer sheet will not be examined. Second copy of OMR can be taken by the candidaie. ;
Use of Caleulators, Mobile phones, Bluetooth device, Smart Watch, headphone and any other kind of »
electronic device is strictly prohibited inside the Exam Centre. If found, his / her candidatre will be |
cancelled and eriminal action may be initiated.

Biometric data of each candidate will be recorded before entering the Exam Centre.
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1. Ramesh walks 10 kmin frontand | 1. 990 o FafDE 7 =&
10 km to the right. Then every cArE=ifG 051 CIEIE Se [eEfanE
time turning left he walks 5 km, S5 | S YEe SHEE 9eTE
15 km and 15 km respectively. ¢ TorEfanm, se EitEGE o
How far is he now from the ve far=ifacrE am s's | (o8
starting point 7 grEEeE 5% @ e Eee
(A) 2 km HiE ?

(B) 5 km (A) 2 far=faom
(C) 25 km (B) @ ﬁ‘i[ﬂ’ﬁ’ﬂﬁ
(D) 40 km (€) 3 Rl

(D) 8o frEnfanm

2. lfD.E:?ndFare three mid points 2. ABC f7s%@ BC, CA =% AB
of the sides of BC, CA and AB ﬁ"ﬁ S D % F
of triangle ABC. Theareaof DEF Wi 1% 70 R ¥ D, E '
is 4 em?, then the area of ABC «fEa DEF 3 corare= 1 4 em? 20
will be : (ST8 ABC 9 owawe fmm 2’9 9
(A) 8cm? (A) 8 cm2
(B) 12 em? (B) 12 cm2
(C) 16 em? (C) 16 cm?

(D) 24 cm? (D) 24 cm2

3. If the circumference of a circle is | 3. 3% 98 @b «ifaft 50% a2 foryl
reduced by 350%, then the area | T (O0% JELOIA CIaa [l a9
ofthe circle will reduce by - | 5y
(A) 25% (A) 25%

(B) 50% L (B) 50%
(C) 65% (C) 65%
(D) 75 % I (D) 75%
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On a sum of money if the
difference  between  simple
interest and compound interest,
both at 10%,1s ¥ 10 in two years.
What is the principal amount ?

(A) T 100
(C) T 1,000

(B) ¥ 500
(D) T10

A train leaves Jorhat at 5 AM and
reaches Ghy at 11 AM. Another
train leaves Ghy at 5,30 AM and
at 11,30 AM,
What time the two trains cross
each other ?

(A) 8§ AM

(B) 8.15AM

(C) 8.30 AM

(D) None of these

reaches Jorhat

A can do a piece of work in
12 days and B can do it in 24
days., They started the work
together. Calculate the number of

¥ I 17 S o *E(e ed T[T

TAEAA AT TS T 5T 754
A1 So T W (SELA TAH
faamsg?

(A) 0003 (B) oo b9l

(C) Sooe 5 (D) So b

Gl AF Y@l @ qEie (AEEhe
o wifs fem vy qEre waEb
ACETE | HIFETS S Qo9 @ <
¢.\wo TGS GAEHE °[ T eE
Yoo IHE FEEG ATHET |
wfey fmm waEe qEeE @
G4 ST T8 T 2

(A) B AM

(B) 8.15AM

(C) 8.30 AM

(D) aGhs 717y

ab B TG AT T A S
e, O OE IS 49 Be
#AMf .8 el | TEFETs] BT Jo0S

EI —— . R—— — e S i i W, i . A

days to complete the work ? fam fom = =i 2

(A) 8 days (B) 6 days (A) b fie (B) & fe

(C) 12 days (D) 7 days (C) 2 M (D) afm
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If ¥ 2,600 is divided among the
persons A, B and C in the ratio
172 : 1/3 : 1/4 respectively. How
much B gets ?

(A) T700
(C) T 833

(B) T 800
(D) 2767

Average 2 monthly pay of five
brothers 1s T 600 and if two
brothers got a pay raise of T 100,
then the new average pay will

be :
(A) T620 (B) To640
(C) T 660 (DY T700

G-20 Summit 2019 was held in
(A) Seol (B) Osaka

(C) Tokyo (D) Shanghai

Who is the Director of

Intelligence Bureau ?
(A) Samant Goel
(B) K.P.Jain

(C) Arvinda Kumar
(D) R.K. Mishra

oo Bas A A, B 9% C 1
arEre e e 29 | FEea sm
TS /2 : e YBE BT
fam Bt o 2

(A) 4eob@l  (B) koo b
(C) veoe 5 (D) 44 b

oG fE5191@ “/i5e= T2 S Loo
Bl vl o | A e S
yoo BF vAWE T W (S0E
Ay e e T e
599

(A) s2o 5 (B) sgo b=
(C) svo T (D) 400 5=

30%) BE® G-3o HiEW 3T
tafem 2

(A) 6%
(C) Sfew’

(B) S5
(D) BlREE

Intelligence  Burcau® ==
o™ ?
(A) B% sfta#




11. Sri Rameshwar Teli is 11, RS A (oA 25 Qi
(A) Cabinet Minister of Food
Procassing. (A) =1 e R 98
(B) Minister of State in Labour (B) = Tgiema aifEms 95
Ministry.
(C) Minister of State in Food © g TSN
Processing Ministry.
(D) Minister of State for Tribal (D) s fm qiftns a5
AlTairs,
12. Who has been awarded Padam | 12. 0% ¥ o] R 1 oM
Shri award in 2019 ? a1 (2w ©
(A) Sri Arup Kumar Dutta (A) S R G
(B) Sri Prafulla Barua (B) ofE 7
(C) Sri Dhirendra Nath
Bezbarua (C) Hicaw sel egal
(D) Sri Uddhab Bharali (D) Tea sAl
13. Riyan Parag isa 13, A o1 Qo 2
(A) Football Player (A) Tha= (efia
(B) Cricket Player (B) frah cuefla
(C) Boxer ! (C) 9=
(12} Badminton player ; (D) TaSfG efta
1
14, “Village Rockstars” was directed ; 14, Toroe a2@'q «fanEe =i -
by —
(A) Jahnu Barua ; (A) iz 7%
(B) Manju Bora 1 (B) Tg W
(C) Rima Das I (€) a1
(D) Zubin Garg } (D) gf sl
Series-A E 01



15.

16.

17.

18.

Who i1s not a member of

BIMSTEC ?
(A) Nepal

(B) Sri Lanka
(C) Bangladesh
(D) Kyrgyzstan

Council of States was renamed
aﬁ_

(A) Lok Sabha
(B) Sansad

(C) Rajya Sabha
(D) Vidhan Sabha

Who cannot vote in the Election
of the President of India ?

(A) Elected Member of Lok
Sabha.

(B) Elected Member of Rajya
Subha.

(C) Elected Member of
Legislative Council,

(D) Elected member of
Legislative Assembly.

The term  “monopoly”™ s

associated with

(A) Capitalism

(B) Socialism

(C) Communism
(D) Mixed Economy

|
|
|
|
|

b.

15. ™= (74 BIMSTECT ]

75 7
(A) TI¥E

(B) Szl
(C) e
(D) feferzm

Council of States TRIF=E" F41
L

(A) TSRS

(B) %99

(C) aleEPrE|

(D) fuErTS!

TG q4ge Frefore @i b
4 G 2

(A) e Frafoe e

(B) ArEpTer Frafles v

(C) faum «fferrr frafftre g
(D) faurprsm fatfee s
‘Monopoly' =4 TATE @ 4|

73 7

(A) *jferam
(B) smream
(C) =l
(D) firs wefifife

Q1

|

|

|

|

I
(]
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19. Which is not a Union Territory ? | 19, &9 @e= (e =1fe 25 2
(B) Puducherry (B) ﬂECEﬁ
(C) Laddakh (€) A
(D) Daman and Diu (D) 7 S fe
20. Who is the Chairman of Rajya | 20. amspism el @m 2
Sabha 7
(A) Speaker (4)
(B) Chief Justice of India (B) SRS T4 AmIEH
(C) Vice-President of India (C) Sea Toragefe
(D) Seniormost Member of (D) AEFEA  wWHESE &
Rajya Sabha ] AR |
21, Holes in “Ozone Layer’ are | 21. “Ozone Layer™ Holes @4
caused by E F 7
(A) CO, (A) CO,
(B) SO, (B) 50,
(C) CO (C) CO
(D) CFC (Dy CFC
|
22. Which District of Assam has no | 22. ZPTa (¥R femire rgar@m Fi
International Boundary ? ] 1% ?
(A) Dhubri I (A) g
(B) Karimgani l (B) Fe=siel
(C) Tinsukia { (C) fefemsdm
(D) Kamrup (Rural) } (D) T (21)
Series-A 01



23. Coin system was introduced by 23, u| e «fasn T
(A) Pratap Singha (A} e Biez
(B) Sukhampha (Khora Raja) (B) G (71 7si)
(C) Suklenmung (Gorhgaiva
Raija) (C) BT (19 ole] ()
(D) None of these (D) SwT! =N
24. Who wrote “Namghosa™ ? 24, W AT T 641 wfafeE 2
(A) Sri Madhav Dev (A) a0
(B) Srimanta Sankardev (B) &g <0
(C) Sri Madhav Kandali (C) =iHa awwie
(D) Jyoti prasad Agarwala (D) TEfe 25m =isEaE
25. Who wrote ‘Karengar Ligiri® 7 25, picaea e e Ao e 2
(A) Phani Sarma (A) oo
(B) Bishnu Prasad Rabha (B) fae et ars
(C) Jyoti Prasad Agarwala (C) TElfE epim S|
(D) Parbati Prasad Barua (D) “r&fE &% 7351
26. Whom Bhaskar Barman sent as l[ 26, S Tfta skl a8y o
ambassador to Harshavardhan ? | TP 5B 2
(A) Vayu I (A) A
(B) Varuna | (B) 9
(C) Meghadut || (C) TFge
(D) Hang Savega I (D) =zwies!
Ql E Series-A




27. Where was Madhavdev born ? 27. FHATRE TS w5 a0 0
(A) Borduwa (A) <=CAml
(B) Koch Bihar (B) T f4zm
(C) Leteku Pukhuri (C) TEHT <Al
(D) Garmur (D) “Twqa
28. Which Assamese film was | 28. Sdlea BI® @i vafbaz 1fe
released in 1935 7 (B 2
(A) Joymati (A) TREE!
(B) Paarghat (B) *@ab
(C) Monomati (C) TS
(D) Indramalati (D) TEHaEE
29, If a large number of people are | 29. W0l @ifere ¥ ToRAT AR
enclosed in a room, then Hag o4 94 = (o)
(A) Oxygen and Carbon dioxide | (A) Sfrss ure o4 off wREs
will increase. m i I
(B) Only Oxygen will increase. (B) T s i i
(C) Only Carbon dioxide will (C) Tt wiad-ufd unEs g
increase, Y4
(D) Both Oxygen and Carbon (D) WfEe & A -G
dioxide will decrease, (% i q |
1
30. Your doctor gave you 7 Capsules % 30, corEEs SrEe 4B @ [ gaba
to be taken one at 2 hours interval, | A A e e | afe e
How long the Capsules last 7 | STRIS COTAA (o2 478 oo 29 2
(A) 14 hours l (A) 38 9
(B) 13 hours 1 (B) Yo 9
(C) 12 hours | (C) s29%
(D) None of these ; (D) «be 72y
Series-A [10] 01



31. Bagarumba is a dance of

32,

33.

34,

(A) Karbis
(C) Bodos

(B) Tiwas
(D) Rabhas

To insert three columns between
column D and E, you will

(A) Select Column D
(B) Select Column E
(C) Select Column E, F and G
(D) Select Column D, E and F

From which menu you can insert
Header and Footer ?

(A) Insert Menu
(B) View Menu
(C) Format Menu
(D) Tools Menu

A combination of Row and
Column is called
(A) Line (B) Column
(C} Row (D) Cell

. Choose the Word most similar in
meaning.

FIASCO

(A) Festival
(B) Happening
(C) Ceremony
(D) Disaster

3l

32,

33,

34.

|
I 35,
|
|

1547 8] B 5 2
(A) w4 (B) fGa
(C) =IeEl (D) 4rs

s D o E4 e fefib) @
o et gt @l Al
e 7

(A) Select Column D

(B) Select Column E

(C) Select Column E, F and G
(D) Select Column D, E and F

Header and Footer TERFIDI (R
41 G insert 491 ?

(A} Insert Menu

(B) View Menu

(C) Format Menu

(D) Tools Menu

Row and Column® J995F &

=7
(A} Line (B} Column
(C) Row (D) Cell

FIASCO =5 219 i+ =Hin]
fasifa TFsar 9

(A) Festival
(B) Happening
(C) Ceremony
(D) Disaster

Q1

|

|

|

|

I
1]
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36. Choose the Word nearly opposite | 36, PRUDENT *FabMd & fasdre
In meaning. =i fasifa Saear 2
PRUD‘ENT (A) Simple
(A) Simple B Rapid
(B) Rapid () Ry
(D) Foolish (D) Foolish
37, T @D WA s wem | 37, TR D WA R wR
ozt 1% ? (G AR 2
(A) CF1 (A) =
(B) 99 (B) I
(C) e (C) e
(D) fre! (D) s
38. TEA (DFD ST 9% AT | 38, THA @D ST O THAET
TYT JazE = 7 s  S9SIEIAT ?
(A) @R (A) @™
(B) == (B) f=
(C) (C) W
(D) Z= | (D) T
39, FEMeR (oS SedE’ wsmnE {3?.wm“ﬁrteﬂm‘w$ﬁ
TS 955+ 21T (FETH! 7 | TS TeaneE o el ?
(A) T© } (A) T©
(B) = |  (B) f=re
(C) = } (C) e
(D) @[ | (D) @A
l
Series-A z] QI



Q. 40 & 41 : On the busis of the | 2/ 40 - 41 : 2= 551 #=74 qfea s

relationship between first two words, | 58 w8y =mh@ w5 Tean v
you have to decipher the relationship | g e |

of third word with the options given,

40. Sonitpur : Tezpur :: Darrang : 7 | 40- e : (O A ?

(A) Udalguri (A) ewmafd

(B) Mangaldoi (B) we#HA

(C) Sipajhar (C) Teermim

(D) Majbat (D) e

41. Satyajit Ray : Film :: Picasso : ? 41. Aeifers am ; o o e 2

(A) Painting (A) w2 (fom)

(B) Drama (B) b

[C} Fﬂ'l.‘:['['}" m (C) m

(D) Literature (D) e

Q. 42 & 43 : Three words are given in | o w2 42 - 43 : efed em® o'5@
each question which have something in fswas fehibita w= ft Tz | Fefaht

common among themselves, Choose e
the most appropriate description about W Juairdl g TEA! Sl |

these three words. 42. ﬂﬁﬁ.ﬂ'ﬁ.ﬂﬁﬁﬁ
42. Bantus, Khasis, Maoris (A) werefie
(A) Tribal groups (B) =@
(B) Herdsman | [.C} 54 #efra (g)
(C) Pasturelands (D) “Herai®

() Mountaineers

|
43, Coal, Iron, Mica | 43, = 1, ¢, B

(A) Gold I (A) T
(B) Rock | (B) fm
(C) Earth | (@) e
(D) Minerals I (D) fies
01 E Series-A



Q. 44 & 45 : Select the words which
is least like the other words in the group.

44. (A)
(B)
(C)

(D)

45. (A)
(B)
(C)

(D)

Carrot
Potato
Tomato

Ginger

Humble
Civil
Rude

Polite

46. In a certain code STABILISE 1s
written as UVCDENKUG. How
would CRICKET be written n

the same code 7

44,

45,

46.

o R 44 - 45 : TEA WEEEE A
HAPEATELE T AW 49 = Anif
e |

(A) sirem
(B) =
(C) =

(D) =M

(A) fawim
(B) i
(C) T=8

(D) =&

STABILISE 1/ UVCDKNKUG
3'Te il 20 (308 CRICKET f&
g fENge ?

l
|
(A) DSJIDLFS 1 (A) DSJDLFS
(B) ETKEMGY I (B) ETKEMGV
(C) KTMEVGV 1 (C) KTMEVGV
(D) EKTMEGV | (D} EKTMEGV
|
Series-A [lil o



Q.47 & 48 : Seclect the Venn Diagram
which best illustrates the relationship
among the items given below :

47. Lawyers, Honest, Dishonest,

(A) (B) @
© OO0 o D

48. Police Constable, Peon, People

(A) (B) @

© OO0 ® dn

0. 49 & 50 Answer the following
questions based on the diagram :

X

/8 9\

49. Which number is in all 3

figures ?
(A) 5
(B) 2
(C) 4
(D) 7

50. What is the product of numbers
which are layng only i
reclangle ?

(A) 6
(B) 7
(C) 72
(D) 74

al O8]

| o R 47 - 48 : DRSS TG
| fbareh famifa Efeea b ==

| AT e ST S A

I47. Hitaw], A, T |

0@ 0@
; © 000 ® D
!43. o1 Tz, o, TRz |

| (A)

| ® &
L ©QO00 ™
I
i

o/ 3 49 - 50 TEHhE svEe fofa o4
Tea T

CAD

5

!
l
| L o N\ s
l
|

/s o\
549. 0! e fefasht foas == 2
(A) 5
(B) 2
(C) 4
(D) 7

e HEed Twe 9% WAR
e [ ?

(A) 6

(B) 7

(C) 72

:
|
|
|
|
|
| 50.
|
;
|
!
:
i (D) 74




